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R3.5A RBAFELE T0P20 (EMALHKFATYS) (g {8-F)

B fiI T 5 K| = 2 |IB EZ EEE- & %
1 Ak 14,397 5,017,526 11 F5NAE 8265 1,243,181
2 =5y 18,649] 3433244 12 [ERET 8,305 1,168,990
3 BEDNI R 5,728] 2,173,735 13 [&DPzAES 6,444] 1,041,024
4 EEMNMIR 6,072 1824128 14 [#BE 4,967 998,321
5 EHE (FK) 8,734] 1,696,751 15 |lFBHD 390 996,084
6 e - A DM 5,302] 1,603,923 16 [BN 4,139 946,846
7 Fry 9,906/ 1,581,139 17 [LC#H 2,405 840,076
8 -T2 (k&) 4,152] 1,486,744 18 [F-IFDC 3,141 822,491
9 EZAES 5707] 1376663 19 [AZF 4,430 731,297
10 |[RFYTIED 8532 1352829 20 [L\BT 1,657 715,577

XEIEIZBmEPRIELTLET .

ﬁiﬁﬁb Bl TRaACANFENEUE |

TOPZO IE Aﬁrﬁﬁﬁta‘) (B {E- ).
g i & % R 5 B | = %8 |
1 ck 25,000 7,1 76,450 11 LC#& 2,634 923,029
2 =Y 26,842] 4,276,153 IPENESS 3,652 881,244
3 TRy 11,178] 1,876,762 13 FSNAE 5,044 821,491
4 i 3,364| 1,784,351 14 |f-IFDC 2918 771,172
5 SPVWAITA 7,170] 1,304,698 15 |ON 3,323 727,479
6 FEHF 8,543] 1,272,959 16 |[AI=< 3,226 652,261
7 SH#HE (EK) 6,471 1,247,928 17 |R&E 5,646 630,710
8 =T 5,192] 1,066,944 18 |EZRAES 2,475 531,971
9 +F R 4723 981,760 19 [RXvF—= 3,645 502,131
10 |[OvHAE 4846 950,691 20 |LAZX 3,740 479,767
DL TOP ] SE & 'Cd) (EfE-A)
B fit TE T % 2 [ E £ T & %8 |
1 [BEDMNLER 6.854] 2.188.554 6 %i% 946] 710,116
2 EEMLSR 5,251 1,546,063 7 KHZ 753 403,942
3 | TFE-hABE- T 4210] 1232375 8 |7<BR 754] 249432
4 -T2 (k&) 2,868| 1,048,287 9 BV 805 199,905
5 IE5#2 362 988,956 10 |[#T+ 597 196,495
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